2.6.1
The Traditional Method – Smolen etc.
Smolen is game forcing and is basically a command for partner to bid 4(/( so that he becomes declarer in that contract (or perhaps a slam). Declaring from the NT opener’s hand very often has its advantages: - 

Example
Dealer:
( AK9
West

North      
East        
South

North
( Q3

Both vul
( KQ75
-

1NT
(1)
pass

2(

( K863
pass

2(

pass
   
3(
(2)


pass

4(
all pass



( 105
N

( 742
    

( 10872
  W    E
( J95

(1)
15-17


( J964
S
( A1082

(2)
natural and forcing, not playing 

( QJ10
( A42

Smolen





( QJ863



        

( AK64



( 3






( 975



West leads the obvious (Q, down one. Clearly the wrong hand is declarer. Let’s see how we can solve this problem (by playing Smolen): -

Smolen
We will be covering transfers later and we will see that game going two suiters are easy. The traditional method using Jacoby transfers is to transfer into the 5 card suit and then bid your 4 card suit (game forcing). This is certainly the recommended method with a 5 card major and a 4 or 5 card minor. However, with 5-4 (or 4-5) in the majors, most serious players these days employ Stayman (they use the transfer and bid sequences in the majors only when 5-5). So, with a game forcing 5-4 (or 4-5) in the majors opposite a 1NT opening you bid Stayman. If partner replies in a major then raise to game. And what if partner replies 2(? Normally you the bid 3 of your 5 card major (game forcing) and give partner the choice between 4 of the major or 3NT. A slight improvement on this (when playing a strong NT) is the Smolen convention, whereby you bid 3 of your 4 card major, thus giving opener the same options but ensuring that the 1NT opener is declarer

So when playing Smolen we have: -

Hand A


1NT - 2( - 2( - 3(    shows 5 (’s, 4 (’s game forcing.

( QJ852
 


( AK87
 
Opener normally completes this Smolen transfer by bidding 4(. 

( J4
 
3NT is an allowable but not common alternative. It notes that 

( 74
responder is 5-4 but suggesting that 3NT is preferable.

Hand B


 
1NT - 2( - 2( - 3(    shows 5 (’s, 4 (’s game forcing.

( KJ52
 


( AJ872
 
Opener normally completes this Smolen transfer by bidding 4(.  

( J4
 
Again 3NT is an allowable but not common alternative, noting 

( 74
that responder is 4-5 but suggesting that 3NT is preferable.

Example 

Dealer:
( AQ104
West

North      
East        
South

South
( 108543

Both vul
( A3
-

-

-

1NT



( 62
pass

2(

pass
   
2(



pass

3(
(1)
pass
4(



( 652
N
( 9873
all pass    

( AQJ

  W    E
( 76





( K764
S

( J109





( 543



( Q1087

(1) Smolen. 5 (’s and 4 (’s


( KJ


        

( K92


If North was declarer, then (J lead would kill the 

( Q852 
contract. With South as declarer, careful play will


( AKJ9

see the contract home despite the bad trump position.

So, all very nice and simple. But hang on! If after   1NT - 2( - 2( - 3(  opener is expected to bid 4(, then what the hell does 3( mean? And come to think of it, what do 4(, 4( and 4( mean? And the similar bids in the 3( sequence?

Explicitly, after 
1NT - 2( - 2( - 3( …
what are 3(, 4(, 4( and 4( ?

and after
1NT - 2( - 2( - 3( …
what are 4( and 4( ?

Responder has shown 5-4 (or 4-5) shape and game-going values (but no more – although he may have of course). Opener has denied a 4 card major. Why on earth would he want to break the Smolen transfer? Simple, he has a max, good 3 card support for responder’s 5 card suit and shape that indicates that slam may be on if partner is interested.

But what should these bids mean? A cue bid? A 2nd suit? A (weak) doubleton? I guess that you could choose it to be any of these, but I prefer the cue bid option. So let’s state that these bids are cue bids, showing the ace of the suit bid (or (A in the case of 3() and good three card support (slam interest).

Thus we could have: -

After   
1NT - 2( - 2( - 3(

and after
1NT - 2( - 2( - 3(

3(
=  three (’s + (A
4(
=  three (’s + (A ?


4(
=  three (’s + (A
4(
=  three (’s + (A ?
(*)


4(
=  three (’s + (A 
4(
=  normal transfer completion

4(
=  slam interest but no ace to cue (*)


4(
=  normal transfer completion

We could call these bids Smolen super-accepts.
It’s unfortunate that there is not so much room in the sequence with (’s as trumps; I guess that you could decide not to play Smolen …. ? 

Example  

West
East
West
    
East



( KJ7
( AQ954
1NT
     
2(

(1)
Smolen, 5 (’s & 4 (’s

( K103
( AQ42
2(    
3(
(1)
(2)
3 (’s, (A, slam interest

( AKJ8
( Q105
4(
(2) 
4NT
(3)


( Q95
( 2
etc to 6(





With excellent support for both majors, West cues his ( ace. East could re-transfer with 4( at (3) but it is hardly important who is declarer. RKCB finds the excellent ( slam.  

So they can work well, but Smolen super-accepts are by no means established – you are already in a game forcing situation and so it has less sense. Combined with the fact that it’s awkward with (’s as trumps and that you perhaps wish to leave the suit below trumps (*) available for a re-transfer, the Smolen transfer will normally be simply completed on most occasions. So we’ll stick with straightforward Smolen (if you play a strong NT – see next page for the weak NT) and not bother with super-accepts.
Smolen Playing a Weak NT?

At the start of this Smolen section I gave an example of the advantage of playing Smolen (the lead coming up to the strong balanced hand). Playing a weak NT, however, the advantages are not so obvious. Responder has an equally strong (perhaps stronger hand). If you play a weak NT and like the idea of the ‘Smolen super-accepts’ then it may be preferable to forget all about Smolen and go back to the natural method (responder bids 3 of his 5-carder, game forcing). Opener then has straightforward super-accepts available: -

So then we have: -

After   
1NT - 2( - 2( - 3(
     and after
1NT - 2( - 2( - 3(

3(
=  three (’s + (A
4(
=  three (’s + (A


4(
=  three (’s + (A
4(
=  three (’s + (A


4(
=  three (’s + (A 
4(
=  three (’s + (A


4(
=  no slam interest
4(
=  no slam interest


(or no ace to cue)
(or no ace to cue)

Much simpler, and nearly complete (no distinction between no ace and no interest is a problem – we solve this later with Quest transfers). Playing a weak NT you have to weigh up the possible advantage of the NT bidder being declarer against the advantage that these super-accepts have to offer. Up to you, but I do like to keep things simple!

Example (playing a Weak NT) 

Dealer:
( AQ975
West

North      
East        
South

South
( AQ104

Both vul
( K3
-

-

-

1NT
(1)


( K2
pass

2(

pass
   
2(



pass

3(
(2)
pass
4(
(3)


( J3
N
( 642 
pass
4NT
(4)
pass
5(
(5)


( 975 
  W    E
( 8632
pass
6(

all pass




( QJ102
S

( A97 


 

( J976
( 1083
(1)
12-14


( K108
(2)
5-4, forcing, not playing Smolen


( KJ


 
(3)
(A, super accept

( 8654 


 
(4)
RKCB

( AQ54



(5)
2 key cards
 An excellent contract if played by North, I guess it’s swings and roundabouts if you play a weak NT; but not playing Smolen is simpler and seems superior, especially in light of these super-accepts. Anyway, for the next couple of sections on 5-4’s and 6-4’s I’ll assume that we play a strong NT and Smolen without super-accepts.

And it’s all academic anyway, when we come onto Quest transfers we will see that Smolen (or the natural 3(/( jump) is redundant whichever strength of NT you play.

We have covered weak hands and there are 4 more basic hand types to be covered. They are as follows, with both 5-4’s and 6-4’s being covered for each type.

2.6.1.1
invitational 
5-4’s, where we want to invite game.

2.6.1.2
invitational
6-4’s, where we want to invite game.

2.6.1.3
game going 
5-4’s, where we want to play in just 3NT or 4(/(.

2.6.1.4
game going 
6-4’s, where we want to play in just 4( or 4(.

2.6.1.5
game going 
5-4’s, but with slam interest.

2.6.1.6
game going 
6-4’s, but with slam interest.

2.6.1.7
slam going 
5-4’s, how to investigate slam.

2.6.1.8
 
slam going 
6-4’s, how to investigate slam.

You will discover that everything is not perfect, however. And I have kept the same order, section titles, example numbers etc in the next chapter (Quest Transfers) where all the loose ends are tidied up – and more.
2.6.1.1

Invitational 5-4’s, where we want to invite game. 
I guess that there are two options here: You could transfer into the 5-carder and then invite with 2NT – the problem is that you may miss a 4-4 fit. The more sensible alternative is to bid Stayman and then 2NT if no fit is uncovered (but you may miss a 5-3 fit). We can’t have everything, and a 5-3 fit will often play just as well in NT but a 4-4 fit should not be missed. So, Stayman.

Hand A
Hand B
Partner opens 1NT. 

( K842
( KJ854
With Hand A we bid 2(. If partner responds 2( then we bid 

( KJ854
( KJ82
2NT. If partner responds 2( then we invite with 3(. If partner 

( J52
( 105
responds 2( then it’s worth game with a 5-4 fit, so 4(.

( 2
( 32

And much the same with Hand B although some conservative 


players may prefer to just invite over a 2(/( response.

Example 1

West
East
West
    
East



( AQ3
( K842
1NT
     
2(

(1)
invitational

( Q9
( KJ854
2(    
2NT
(1)


( K964
( J52
pass


( A753
( 2





A poor contract, but with limited tools …?





_____________________

Example 2

West
East
West
    
East



( AJ3
( K842
1NT
     
2(

(1)
invitational

( AQ3
( KJ854
2(    
2NT
(1)


( KQ64
( J52
3NT

pass

( J53
( 2



              


I would much prefer to be in 4(.





_____________________

Example 3

West
East
West
    
East



( AKJ
( Q1042
1NT
     
2(

(1)
invitational

( KQ
( AJ854
2(    
2NT
(1)


( A864
( 532
3NT

pass

( 9853
( 2

It is debatable if the East hand is really worth an invitation at (1). West obviously accepts and 3NT will make if the (’s split. But how do you reach the good 4( contract?



_____________________

Example 4

West
East
West
    
East



( 96
( KJ842
1NT
     
2(

(1)
invitational

( A54
( KJ82
2(    
2NT
(1)


( AK64
( 105
3NT

pass

( AQ85
( 32

A poor game that West would have avoided if he knew that the hand was a mis-fit. Note that West has no idea that the hand is a mis-fit, we play 4-way transfers and so 2( followed by 2NT may be any shape.



_____________________

2.6.1.2
Invitational 6-4’s, where we want to invite game. 

So, Smolen/traditional methods do not work too well with invitational 5-4’s, but how about 6-4’s? 

It’s even worse! Suppose that we start with Stayman, if a fit is uncovered then you can invite or perhaps just go for the game. But what if opener responds 2( and we still feel that there may be a game in a possible 6-3 fit? In the similar situation when we were 5-4 (or 4-5) we had to settle for a not completely satisfactory 2NT (we may miss a superior 5-3 fit). We cannot afford to miss a 6-3 fit (either partscore or game), so what’s the solution?
Hand A
Hand B
Partner opens 1NT (strong). 

( Q1042
( KJ9542
These hands are probably too strong to sign off at the two level. 

( KJ8542
( Q942
If we bid Smolen then that is game forcing. How can we show 

( 105
( 105
that we have invitational values and a 6 card suit when partner

( 2
( 2

responds 2( to our initial Stayman? 2NT is the only




invitational bid. We have the same dilemma when playing a 




weak NT (3 points different).

Example 5

West
East
West
    
East



( AQ3
( KJ9542
1NT
     
2(

(1)
invitational

( AK3
( Q942
2(    
2NT
(1)


( K64
( 105
pass


( 9753
( 2



Obviously bidding 2NT as invitational is silly.





______________________

So should you transfer into the 6-carder with these hand types? You then have an invitational bid (3 of the 6-carder) if partner simply completes the transfer. Often fine, but not if you miss a 4-4 fit in the other major (you cannot bid the 4 card major as that is played as 5-5 by most players, or else as forcing): -

Example 6

West
East
West
    
East



( 63
( KJ9542
1NT
     
2(
(1)
(1)
transfer to (’s

( AK103
( Q942
2(    
3(
(2)
(2) invitational, 6 (’s

( KQJ4
( 105
3NT

pass

( A73
( 2

A silly contract, (’s never got a mention! 4( may be preferable to 3NT, but 4( is the best contract. You may sometimes get away with inviting with 2NT with the 5-4’s but the 6-4’s are impossible. 


Basically, you cannot sensibly bid these invitational hands unless you employ Quest transfers!

2.6.1.3
Game going 5-4’s, where we want to play in just 3NT or 4(/(.
Here we use Smolen. We start with the 5-4’s again.

Hand C
Hand D
Partner opens 1NT (strong). 

( AQ42
( KJ954
Having failed to find a 4-4 or better fit with Stayman, these  

( K9854
( AJ42
hands now want to play in game in a 5-3 fit or else 3NT. 

( J52
( Q5
So we start with Stayman and if there is no immediate fit we

( 5
( 52
bid 3 of the 4-carder - Smolen. Partner knows our major suit 

distribution is 5(or 6)-4 and bids either 3NT of 4 of the major

if there’s a 5-3 fit.


Example 7

West
East
West
    
East



( Q3
( KJ954
1NT
     
2(

(1)
Smolen, 5+ (’s

( K103
( AJ42
2(    
3(
(1)


( K984
( Q5
3NT

pass

( AKJ3
( 52

Looks good to me.



______________________

Example 8

The 5-3 fit is usually best if opener has a weak suit: -

West
East
West
    
East



( A83
( KJ954
1NT
     
2(

(1)
Smolen, 5+ (’s

( K103
( AJ42
2(    
3(
(1)


( AKJ3
( Q5
4(

pass

( J84
( 52



______________________

So no problems here. If you simply want to play in game then Smolen gets you to the correct spot played by the correct hand. And so it should – that is what it was designed to do!

2.6.1.4
 Game going 6-4’s, where we want to play in just 4( or 4(.
Again, we have responded 2( to partner’s 1NT opening and he replied 2(. Here we shall consider hands that are certainly worth game (in the 6-3 or 6-2 fit) but where we really do not wish partner to make a move towards slam.

In the corresponding situation with 5-4 (or 4-5) in the majors we informed partner that we had these 9 cards in the majors and left it up to him to play in a 5-3 fit or in 3NT. In this situation with a 6 card suit we want (partner) to play in the 6-3 or 6-2 fit.                                                                                                                                                

Hand E
Hand F
Partner opens 1NT (strong). 

( AQ42
( KJ9542
Having failed to find a 4-4 or better fit with Stayman, these  

( K98542
( AJ42
hands now simply want to play in the long major suit game. 

( 85
( 105
We do not want to encourage partner, and so we bid 4(/(.

( 5
( 2

This is a Texas Transfer (known as Extended Texas) and 



shows a desire to play in 4 of the major without inviting  



partner to bid on.

So we have
1NT - 2( - 2( - 4( - transfer to 4(
and 
1NT - 2( - 2( - 4( - transfer to 4(

as Extended Texas transfers.

Example
West
East
West
    
East



( A63
( KJ9542
1NT
     
2(

(1)
Extended Texas

( K75
( AJ42
2(    
4(
(1)


( AQ74
( 105
4(

pass
.

( K63
( 2

This works fine (provided partner does not forget and leave you in 4(!). Anyway, an excellent scheme and we use it for this hand type even when we move on to Quest transfers.
2.6.1.5
Game Going 5-4’s with some Slam Interest 

Here we are concerned with hand types that are not adverse to a slam suggestion from partner or may wish to make a mild try themselves. We start with Stayman of course and then Smolen 3(/(. Smolen does not lend itself to super-accepts and so opener normally either bids 3NT or bids 4 of our 5 card major. We are then at the level of 3NT or 4 of the 5-3 fit and it’s up to us to take the next step.

Hand G
Hand H
We begin with Stayman, if partner responds in a major then we





are definitely in slam mode. It’s best to use 4( as RKCB for

( AK854
( AK42
the major.

( AQJ2
( AJ954
If there is no immediate fit then there may still be slam if there

( J52
( K5
is a 5-3 fit. So Smolen. If partner denies a 5-3 fit with 3NT (or 

( 5
( J2
prefers 3NT) then you can either give up or try a quantitative 

4NT. If partner confirms a 5-3 fit then you are at the level of 4 of the major. It’s up to you if you cue bid, Blackwood or whatever next.


Example 9

West
East
West
    
East



( J73
( AK42
1NT
     
2(

(1)
Smolen, 5+ (’s

( K3
( AJ954
2(    
3(
(1)
(2)
quantitative

( AQ84
( K5
3NT

4NT
(2)


( AK93
( J2
6(  

pass

West is max here and so bids slam. It’s not a very good one (neither is 6NT); I guess that if West does not confirm a 5-3 fit then East needs more to go slamming?



_____________________

With a fit, East should have a go: -

Example 10

West
East
West
    
East



( Q7
( AK42
1NT
     
2(

(1)
Smolen, 5+ (’s

( KQ3
( AJ954
2(    
3(
(1)
(2)
3 (’s

( QJ42
( K5
4(
(2)
4(
(3)
(3)
RKCB (Kickback)

( AQ93
( J2
5( 
(4)
6(
(4)
2 key cards + (Q


pass

Good show. It looks like East’s bidding works fine, but …….



_____________________

… but is it (a good show)? Luckily West had the right cards but it is not usually a good idea to bid Blackwood when you have a weak doubleton and don’t know about partner’s overall strength or holding in the weak suit: -

Example 11

West
East
West
    
East



( Q7
( AK42
1NT
     
2(

(1)
Smolen, 5+ (’s

( KQ3
( AJ954
2(    
3(
(1)
(2)
3 (’s

( AQJ84
( K5
4(
(2)
4(
(3)
(3)
RKCB (Kickback)

( Q93
( J2
5( 
(4)
6(
(4)
2 key cards + (Q


pass

East has got uncomfortably high and only knows that one key card is missing. There is no space to find out if the missing card is the (K or the (A, or if partner has the (K; and so he takes a chance and plays the percentages – it worked last time, so just unlucky? Perhaps, but see how we handle this example later playing Quest transfers.



_____________________

We also have a similar problem if West’s trumps are rather poor: -

Example 12

West
East
West
    
East



( J87
( AK42
1NT
     
2(

(1)
Smolen, 5+ (’s

( Q63
( AJ954
2(    
3(
(1)
(2)
3 (’s

( AQJ
( K5
4(
(2)
4(
(3)
(3)
RKCB (Kickback)

( AQ83
( J2
5( 
(4)
6(

(4)
2 key cards + (Q


pass


West had no chance to inform East that he was minimum and so the poor slam was reached with exactly the same sequence as the good one (good slam, that is, not good sequence!) in example 10.



_____________________

Now I realise that you want to know how these hands should be bid. Be patient. All good thing come to those who wait. We’ll finish all the examples using Smolen before we move on to the superior scheme (Quest transfers).

2.6.1.6
Game Going 6-4’s with some Slam Interest 

And how about 6-4’s where we would not be adverse to partner’s advances towards slam with a 6-3 fit?  
Hand F
Hand G
Partner opens 1NT (strong). 

( AQJ2
( AK9542
Having failed to find a 4-4 or better fit with Stayman, there  

( KQ8542
( AQ42
is still a chance of slam if partner has 3 of our long major

( 105
( 105
and the right cards. This time we go through our Smolen 

( 2
( 2

sequence right up to the point where we have transferred




into our longer suit. If partner bids 3NT (usually showing a doubleton or perhaps a weak triplet) then we re-transfer (with 4(/() into our 6-carder to show this good hand. Opener will normally simply accept this transfer. Note that some players state that opener must accept the re-transfer. I’m not so sure, there are most certainly hands where responder would not go past 4 of the major without a push from opener where slam is on. Remember, the fact that responder did not use Extended Texas is a mild slam invitation and responder may feel that he cannot move on without a nudge from opener.

Example 13

West
East
West
    
East



( 107
( AK9542
1NT
     
2(

(1) 
Smolen, 5 (’s & 4 (’s

( KJ3
( AQ42
2(    
3(
(1)
(2)
I prefer NT

( AK83
( 105
3NT
(2) 
4(
(3)
(3)
re-transfer, slam interest

( KQ53
( 2
4(
(4)
pass
(4)
no slam interest

    


_____________________
If partner had responded to our original Smolen bid by bidding 4 of our major (showing three card support), then we could agree to cue bid our singleton/void. This would show slam ambitions but could be either a 5-4 or 6-4 type hand.




Example 14

West
East
West
    
East



( QJ7
( AK9542
1NT
     
2(

(1) 
Smolen, 5 (’s & 4 (’s

( KJ3
( AQ42
2(    
3(
(1)
(2)
3 (’s

( QJ8
( 105
4(
(2) 
5(
(3)
(3)
( shortage, slam interest

( KQJ3
( 2
5(
pass

East had options here. Instead of cueing the shortage he could have tried RKCB, but I believe that indicating the shortage is better. This was indeed valuable information to West as he then knew that (KQ were not pulling their full weight.

So it’s one too many, whether you cue or bid RKCB. But surely East should try for slam, shouldn’t he? Just tough that 5( has 3 top losers? Playing Quest transfers it’s easy to stop low (4(), as we will see later.
    

_____________________
When opener has just a doubleton, slam may still be on. After responder’s Smolen transfer opener bid 3NT, but when responder re-transfers to show a 6 card suit, opener may break the transfer with a suitable hand: -

Example 15

West
East
West
    
East



( QJ
( AK9542
1NT
     
2(

(1) 
Smolen, 5 (’s & 4 (’s

( KJ3
( AQ42
2(    
3(
(1)
(2)
2 (’s

( AJ87
( 105
3NT
(2) 
4(
(3)
(3)
6 (’s, slam interest

( AJ53
( 2
4NT
(4) etc to 6(
(4)
RKCB
West has a near max hand, but is 2-3 in partner’s majors; thus 3NT at (2) is correct. However, East’s subsequent 4( (3) bid shows slam interest - otherwise he would use Extended Texas at (1) - and West’s hand becomes enormous. Excellent major suit holdings (for what he has shown) and controls in the minors must make slam an excellent proposition. West must break the transfer at (4) to show slam ambitions. A 5( cue bid would be equally effective.     

Contrast this West hand with the previous example; first round controls in the minors are all-important. Quacks in the minors are useless and even a king may be worthless opposite a singleton/void.

2.6.1.7
 Slam going 5-4’s, how to investigate slam.
Hand H
Hand J
Partner opens 1NT (strong). 

( AQJ2
( AK954
We are obviously going to slam here, preferably in a  

( KQ854
( AQ42
major suit and possibly a grand. So we start with Stayman. 

( K52
( 1052
After a 2( response we bid Smolen and partner completes the 

( 2
( A

transfer. What now?

A 5( cue bid is obviously a good move with Hand J, but what about Hand H? …

1NT
2(

You hold Hand H and the bidding has started like this. What

2(
3(

now? A key card ask looks like a good idea, but it’s going

4(
?

to be difficult to establish if partner has the (K rather than




the (K. There are ways to establish specific kings after RKCB but generally only if all key cards are present. Agreeing to cue bid the shortage is also a very playable method.

Anyway, we have established our fit and you can choose your favourite slam seeking methods. I’ll cover the best slam seeking method when we move on to discuss these hands using Quest transfers.

2.6.1.8
 Slam going 6-4’s, how to investigate slam.
Hand K
Hand L
Partner opens 1NT (strong). 

( AKJ542
( AQJ2
Clearly going to slam again. So obviously Stayman and

( AQJ2
( KQ8542
Smolen. If partner completes the Smolen transfer then we

( A5
( -
go into our preferred slam mode. 

( 2
( KQ2
Should partner bid 3NT (usually showing just 2 card support

for our 6-carder) then we bid 4(/( - a re-transfer and promising a 6 card suit. Partner may simply accept this re-transfer or perhaps super accept with a very good doubleton. Either way we then go into slam mode. I will again cover the method for investigating the best slam when we cover these hands using Quest transfers.



__________________________________________________

Well, that’s covered the commonly used Smolen approach. Not totally satisfactory, eh? So let’s see if we can come up with something better ……..
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